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BAsic CONCEPT OF TRAINS




Distance = Speed X Time
g = AT x 9Hd
Difference between Meeting and Crossing

oo™ 3T U &t & &=l 3ia?



or all govt. exz BY ADITYA RANJAN SIR

Speed /=TT —» Relative Speed/‘m&&T T
S = (S, - S,) [Same Direction] ( ¥HI= T291T)
S =(S, +S,) [Opposite Direction] ( faadta faom)

Time = Distance . R

’

Speed T
Generally, Length of the train is given in m
and Speed is given in km/hr.

So, always focus on the units.

3q: Had THE U A 2




30Vt exa BY ADITYA RANJAN SIR

Basic points which will help in solving
questions

When a train crosses a man (stationary),
crosses a man walking @ 2km/hr or crosses a

man walking @ 10 km/hr.

a U {oPTSt U Afw (TRew) & U @ €, 2

ferddt/ der @t oTe | oo 9t U St @l UR

& ¢ At 10 fadt/=er &t e | wed 9t U

=IfeF &I U FA 2

In every case : D =L_(Length of the train)
(TSt g )

Here, D refers to the distance which the train
has covers extra with respect to the man.

qgT D Ienmet W g0 ¥ "afda § o tenmet =t
& wad o arfaf=r aa =+ 2



Distance covered by the train when the train
crosses an object:

ot g &l 9R T H IoRTSl gRT 99 i Mg g

D=L_+L_
Where: /?lﬁ
. = Length of Train
1.T = {eTST & warg
L_ = Length of Object



BY ADITYA RANJAN SIR

Train 1 crosses Train 2

D = L +L,
8 = S, — S, (Same Direction)
S, + S, (Opposite
Direction)
Train 1 Train 2
L, L,
S, S,
A person sitting in Train 1 crosses Train 2.
D=L,
S=8 -8,
Train 1 crosses a person sitting in Train 2.
D=L,

S=8 -8

2
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MATHSE1I: or all govt. exa BY ADITYA RANJAN SIR

d=1D = Lr 1. The time taken by a 180 m long train running
S ST at a speed of 54 km/h to cross a man standing
_ 2 _ o, Secon the pla}form is: | ) )
B0z 54 km/h & Tifd | o1 @l 1§0m?-ﬁftiﬁmgtgrn1§zwﬁ
g W @S Uah &Afad ohl IR & o Torar ar wug feraer 272

SSC CHSL 25/05/2022 (Shift- 2)

(a) 10 Seconds J¥) 12 Seconds
(c) 11 Seconds (d) 9 Seconds



govt. exz BY ADITYA RANJAN SIR

A train running at the speed of 63 km/h crosses
a pole in 24 seconds. What is the length of the
train?

63 km/h & Tifa | o1 TET Ueh IoWST Ueh WFH ahi

24 UHUE H U HTdl &1 27 i Targ = g
SSC CHSL 06/06/2022 (Shift 01)

(a) 360 m (b) 320 m

(c) 380 m (d) 420 m

- -y




ATHSE): or all govt. exz By ADITYA RANJAN SIR

S @ — %3. A train passes a man standing on a platform

ptatform in 8 seconds and also crosses the platform

{- b1 PR which is 264 metres long in 20 seconds. The
ST & length of the train (in metres) is:

S
@ | oo (T o fadt wewid wwd wfw w8 e W
_ "+&6L’ U Tl & 3T 264 WeT dd WEWH &l 20 9hs
QI At B TSt W wang (HeT §) g
. Qs = SST 264 (a) 188 (b) 176

S )2/ - (c) 175 (d) 96

. T
T°88T: B%03 \{¢



: or all govt. exz BY ADITYA RANJAN SIR

3. A train passes a man standing on a platform
— in 8 seconds and also crosses the platform
which is 264 metres long in 20 seconds. The
length of the train (in metres) is:

Ueh TeTel fohdl Wiewid UT @ oafvh ol 8 Hahe W
R WA & 31T 264 WiET @ WEwH @l 20 HHhs |
QI At &1 TSt Wi wang (HeT §) g

6

(a) 188 (b
(c) 175 (d) 96
88?(

Sl s
' Wym ~—
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or all govt. exz BY ADITYA RANJAN SIR

A train passes a man standing on a platform
in |0 seconds and also crosses the platform
which is 300 metres long in 30 seconds. The
length of the train (in metres) is:

Ueh Temel fohdl Wiewid uT @ ik ol (O e H
U &Tdl & 31T 300 HiZT & WEWH &l Q0 Hehe W
QI At B TSt W wang (HeT §) g

- I0sec \ osec
w ZW

BOSP c



W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

- [) . 10
1-D=330+110 4. Length of a train is 330 metres and it is moving

S 432xs g
18 at the speed of 72 km/hr. In how much time will
59 it takes cross a platform of length 710 metres?
- _lo4d U {eRIET &I waTs 330 Hizw € @4 @ 72 et/ v
Y & O I ® g 710 HieT wa et wewd &

UR & ° 9 e wua @e?
WS ol MAINS (08/08/2022)
\M 52 seconds (b) 72 seconds

(c) 56 seconds (d) 64 seconds



MATHSEI): r all g pXd BY ADITYA RANJAN SIR

- 3—152 5. A 240 m long train crosses a 360 m long
tunnel in 30 seconds. What is the speed of the
30 = 2‘40;%_0_ train (in km/h)?
5 Sz gof 20 ms-" zmﬁizrﬁqmiasso@@gmaﬁ\soﬁmﬁ
/30’ U Al g1 29 @t e (TRt 2T W) & 87
<
. % .04,
SOX18 el (a) 60 (b) 28.8
/ (Y72 (d) 43.2

< M2 [m,h




By ADITYA RANJAN SIR




1
S=§1x)‘% ms-" 6. A train running at 40 _km\h takes 24 second to
2 499

2
cross a pole. How much time (in second) will it
- %ﬁms" take to pass a 450 m long bridge?
ﬁ:%rgxzhrbra'wl_n 40%km/haﬁmﬁaﬂ%aﬁaw—ﬁwiﬂm@
16 ger Ush @™ Hl UX HIA H 24 H&HS H GHG Tl B
{"-132:%’“4:69 450 Wt #& ge & N HA ° e g (S
A3 x = #) e

SSC CGL 13/08/2021(Shift 03)

(a) S6
(c) 60




-~ 10 sec —> Soom

sovt. exa BY ADITYA RANJAN SIR

A 750 metres long train crosses a stationary
pole in 15 sec. Travelling at the same speed,
this train crosses a bridge completely in 25
sec. What is the length of this bridge?

750 HWieT &l Uk 29 Ush T @9 &l 15 ¥a&hs o
U @Al &1 3 ST | AT @A g0, 98 29 Ush e
&l 25 Hehs W Gl 97€ U &T Trat g1 S @l ans
feret 7

SSC MTS 25/07/2022 (Shift- 3

(a) 1000 m (b) 750 m
(¢) 1250 m \(s#f” 500 m



8. Atrain travelling at the speed of x km/h crossed

oge L a 300 m long platform in 30 seconds, and overtook
4= _D. 3|30 =L+ 300 = a man walking in the same direction at 6 km/h
‘XX% in 20 seconds. What is the value of x?

x km/h & o1 | oA areft enmgt 300 m &
WEHIH i 30 H&HUS | U At & 31 3dr faym
’c‘% )QO‘LT @ 4 6 km/h & =61 ¥ oA 1@ Afad @i 20 AHUS

(x-e)xsg o aftaTes® &idt &1 x T W ATH i
p SSC CPO 24/11/2020 (Shift-2)
Px- 6)x£_ Bhxux %m(a) 60 7] 96
3 gfx_iz l B (c) 48 (d) 102
&



A train travelling at the speed of x km /h crossed
a 300 m long platform in 30 seconds, and overtook

83 a man walking in the same direction at 6 km/h
QT - Q5% -300 in 20 seconds. W13at is the va}ue of x? \
3 (x km/h & =1 | weA aTelt @RSt 300 m @S
wewid w30 ¥HUT W U wIE & i wE fawm
D= sSxt H 6 km/h &l oIT1 § o1 18 Afad &t 20 AHUE
Q—e)xs_ ¥ sitardm I $1 x W AR F@ B
Aq SSC CPO 24/11/2020 (Shift-2
‘ gi"(-So _ (a) 60 (b)) 96
4)3 0= %"(X-e) (c) 48 (d) 102
7 Sy
\ 3 ~300= S%(..@
> 9
%‘SOX- = \

ro—

q
»%7%



MATHSE1I: or all govt. exa BY ADITYA RANJAN SIR

Q= -(—Qgg)—)'( & 9. A 240 m long train overtakes a man walking

e ¢ at 6 km/h, in the same direction, in 9 seconds.

> A X% (x-6) =240 How much time (in seconds) will it take to pass
2 a 372 m long tunnel with the same speed?

3 %-6=96 =) %= |02 m(ppo WeT T IeEEr, waT favn ¥ 6 faddt e #

U ° e °9Td e &t 9 Hahe W U T ATl

= : , 2 A

¢ Tg;)?_;% Zl I W | gE Ienmet 372 el e g @
6 18 foras g o (Has ) U &am?

- SHxig _ SSC CGL 13/08/2021(Shift 02)
Juxg T V6 \(of 21.6 (b) 20

(c) 18 (d) 20.4



MATHSE1I: or all govt. exz | BYADITYA RANJAN SIR

6= LT _ qum 10. A train running at/ h crosses a man
( X‘% going with the speed ¢ ¢m/h, in the same

=) MEX36 xﬁ =LT direction, in 18 seconds and passes a woman
coming from the opposite direction in 12

=) |80'm:9 seconds. The speed (in km/h) of the woman is:
_ (a8 fadt/=er &t =@ | wodr tenmet 3@t fawm A

AZ= 180483 12 fedt /92T &t =Te 9 oed afaq &t 18 e |

ur wdl ¢ )3 fawda favw ® serdt wfgem @@ 12
e U U &vdl g1 ufgenm &t =rer (fadt/ g27) o
maﬁ‘n

@ SSC CGL 23/08/2021(Shift 03)

(a) (b) 9
() 6 (d) 10



11. A railway engine passes two bridges of length

0 400 m and 235 m in 100 seconds and 60

Lt + 4o = 10 : seconds, respectively. Twice the length of the
=) (t + 235 *= 6o sec railway engine (in m) is:

- qaaiﬂém400mafn235maéaiwﬁaﬁ
THHIT: 100 Hehe 3T 60 HAHe H YN &HiAr g1 I

|65 —> 40sec

- $9 i waTE W A (m H) T R
l6S%56 - yas
2 2 5= (a) 12.5 (b) 12

2. < (o) 24 \(d)"25



; MATHSE)I): or all go OX 2 BY ADITYA RANJAN SIR

sec
Ly + 40O —9;53 cecc 12. A train crosses a 400 m-long platform in 50
20072 (L7 + 609 }xe

seconds. It crosses another 600 m-long
\ 200 —> 10 Sec platform in 60 seconds. What are the length

and the speed of the train
Ueh &Sl 400 m &d WIZWH i 50 HahUs § 31T U

= LT=600 3 600 m Fd TEWH i 60 HHUS H UN Hidl &
_— TEIMET @l wag 3 ue feRa-TeReet 872
2 X8 = .
j% 1\?} =2 kmly, SSC CHSL 31/05/2022 (Shift- 1)

(3600 m; 72 km/h (b) 550 m; 75 km/h
(c) 500 m; 70 km/h (d) 650 m; 74 km/h



MATHSE1I: or all govt. exa BY ADITYA RANJAN SIR

S: _géx.@ ="2knlh 12, A train crosses a 400 m-long platform in 50
,19/ 4 seconds. It crosses another 600 m-long
platform in 60 seconds. What are the length

and the speed of the train
e, FeTTENG00 ) T WrEET @ # 3 T
3600 m v wewid H1(E0) ¥ ur & )

e W A 3N uldfﬁdﬁm%")
SSC CHSL 31/05/2022 (Shift- 1)

\@/600 m; 72 km/h (b) 550 m; 75 km/h
(c) SO0 m; 70 km/h (d) 650 m; 74 km/h




UMF MATHS DUEK Dr all g¢ . ¢ BY ADITYA RANJAN SIR

(’XHO)X%:Q-:TQSO 50 13.

A 250 m-long train passes a man going at a
speed of 10 km/h, in the opposite direction,

et i in 9 seconds(How much time (in seconds) will

-’) @' O'MD the train take to overtake a 200 m-long train

— 1-D = 260+200 completely, running at a speed o m/h
S QX3 in the same direction?)

3o 'S 0 250 m @& 29 10 km/hr &t =@ 9 fauda

- _dsoxix 2 faomr o o @ U= _=ufed @ 9 Tww W U wTdr

A g %I,Wﬁﬁmﬁmﬁ63km/hrﬁmﬁ

= 60 Sec. oA TET 200 m @&t 29 &l I 9% @ U &I °

ferar 9ua (9= W) @m?
ICAR Assistant 29/07/2022 (Shift- 01)

(a) 40
(c) 45 ) 50



By ADITYA RANJAN SIR




MATHSE1I: or all govt. exz | BYADITYA RANJAN SIR

= (U0- X%*"ﬁ
50= (40 x) [ 14. A 50 m long train crosses a man sitting in

18 = 4o-x another train going in same direction in 10
2 - sec. If speed of first train is 40 km/hr then
2 = 22 kmlh find speed of second train.

50 HieT wet wE Yevwer @t fawm § W W@ fed
Fadt ermst § 98 foRdt =afew &t 10 WeRvs °§ U
wTt ¥ afe ugelt Tovmst @ W 40 T ger @
af E TEmET w AT A Bl

(a) 18 km/hr (b) 20 km/hr

(c) 21 km/hr \#~ 22 km/hr




MATHS DUEK Dr all g¢ . ¢ BY ADITYA RANJAN SIR

usumin
Soum| 15. Two trains are moving in the same direction
> 33gec at the speed of 36 km/hr and 48 km/hr. The
_ time taken by faster train to cross a man
D ".,_Sxt [l sitting in the slower train is 33 seconds. What
2> L= LQKX%X 33 = 1to  will be the length of the faster train?

5 T Temmfear 36 T dr/=er aur 48 fa& ot =21 =i
oS ° 9UE fEvm W we TR B A orer are
TETET gRT &t =rer arelt TeEl ¥ 43 Ush qEY
& U HA U Terar wEr W 33 9HvE B oArd

AT Tl TGSt i oTwaTs & gIvt?
SSC CGL 07/12/2022 (Shift- 04)

(a) 770 metres (b) 90 metres
(/110 metres (d) 180 metres



MATHSE1I: or all govt. exz | BYADITYA RANJAN SIR

A& 5 5owmlh 16. Renu was sitting inside train A, which was

c , 5apunn,ravelling at S0 km/h. Another train, B whose
3L &

length was three times the length of A crossed

her in the opposite direction in 15 seconds.

If the speed of train B was 58 km/h, then the
D= sx¢t length of train A (in m) is :

25 ol i 2 = 0] U A & offar &St g of, st so femdt e @
Bl PSSt v & o et b ek Wl v
Q% 37 29 B 7 39 faudfta faymr ¥ 15 W&z ¥ uw
foram afe 29 B =t =ter 58 Tt/ =zt o, &t 297 A
®I wars (Wt ") Ja i

SSC CGL TIER II (12/09/2019)

(a) 210 (b) 180

(c) 160 \@)/150




: ATHSE)I: or all govt. exz By ADITYA RANJAN SIR

L= rlxl_%Xl?. 17. _A train corsses a pole in 12 sec and crosses a boy
sitting in another train coming from opposite
—_— direction in 4 sec. If speed of another train in
L= (x+I08)XS X4 108 km/hr then find the length of first train.
: o T Termd fadt W @ 12 Wave § aiw faudm
AXLX)Z = (XHOB) X S /A A Wﬁwoﬁmﬁgﬁmﬁa&wmaﬁ
3 4 HUT W UR wHTAr ¢ Al IEA TenmEt @ o=
A 3= %4109 108 feredt/92T &1 A Ugelt IEHNEl il wars Ad i)
3 2%~ (a) 150 m (b)180 m
S By (c) 160 m (d) 200 m
3 S = N
2 HXS X12. - 2 =Xkl )
& =



MATHS DUEK Dr all g¢ . ¢ BY ADITYA RANJAN SIR

gom_ G
? < 60Lmin 18. A 150 m long train crosses a man sitting in
Dsec another train coming from opposite direction
6 - (% +6Q( e in S sec. If sp.eed of another train .is 60 km/
i (8 hr then(find time taken by first train to cross
2 108=%4+60 250 m long platform.)
3 % =ys mih 150 Wiz welt i3 tenmst faudta fagm ¥ = @ fodi

— i temel 4 ae fodt =afaq & 5 9evg ¥ UN

{:L=Q§Q+Q_Sgl ﬁ%.aﬁg}zﬁmé‘rmeo fatdt /92T =
S s%’xs_ a1 Ugell IenmSl R 250 Higl o WEWH &l UR
- Wa = o forar mar wug 3@ wifww)
MX?) =3, (a) 20 sec (b) 25 sec

e,

}‘ﬁ v \(\c)/30 sec (d) 35S sec




MATHSE1I: or all govt. exz BY ADITYA RANJAN SIR

Q_o-lo> = 5Kt X 1.8 19. Two trains are moving on two parallel tracks
Jﬁw/ = (80'1"1)% but in opposite directions. A person sitting on

a train running at 80km/hr passes the second

train in 18 sec. If the length of 2" train is

1000m, its speed is : (in km/hr)

a1 Terntear 37 |wurar uefat fauda fagmen & -
& 81 80 fertdt/=er =t =l § W@ areft Iemmer o
93T i3 safth gl (RISl &l 18 Hahe | U &l
#1 afg Fud YewmEt @ @are 1000 W & Ar IHeR!
et (Tt ger °) ©

(a) 100 by 120

(c) 140 (d) 150



iQ

BY ADITYA RANJAN SIR

Trains P and Q are running in the same direction
on parallel tracks with speeds of x km/h and 90 km/
h (90 > x), respectively. The faster train passes a man
sitting in the slower train in 30 seconds. If the length
of train Q is 225 m, then what is the value of x ?
2 P 3R Q WuFiar wefial w ush & faom o o x
faedt /g2t afw 90 ferdt/der =1 oo | o W & @
(90 > x) ¥ O =T ¥ T et o St o ¥ |
aer At 3§ 4 uw wfa @ 30 B § uw ad
¢l Ifg 29 Q W wag 225 WieT ¥, A x & WIH T g’

SSC PHASE IX 2022
(a) 65 (b) 60

(c) 68 (d) 63




By ADITYA RANJAN SIR




MATHSE1I: or all govt. exa BY ADITYA RANJAN SIR

200mMm
NOOM < _

%m’h% i 21. Two trains each 200m long are moving in
opposite directions. They cross each other in
= BXtg 10 seconds. If the speed of one train is 90km/
=) :
) 4oe=(04X)X =t h, fi?d the speed of the other train. \
'S @ 24, foil ¥ s @ oag 200 m #, fauda
7 l44= Qo4 faomsii § =rer @ #1 A 10 AHUT W UH-TAT W UN
) &Tdl €1 afg U 29 &t =t 90 km/h €, @ g0 24
ahl ST ATd hiTAT
SSC CHSL 25/05/2022 (Shift- 3
(a) 90 km/h (b) 45 km/h

\(9/54 km/h (d) 36 km/h



o) 1S AMATH SE11): or all govt. ex: By ADITYA RANJAN SIR

18 5L Q81m 5 ¢ 22. A train of length 287m, running at 80 km/h,
Sokm| k /3""“"! crosses another train moving in the opposite
T direction at 37 km/h in 18 seconds. What is

D= Sxt the length of the other train ?

> (28140 -Qxs x 1&g T termgt fowent ofamg 287 #i, =mer 80 femddt/ g
3 ﬁwmmaﬁwwﬁ:ﬁma%mw
R81+4x = 585 U U U HIdl &1 ar gudl enmngt @ 27
:) x < 298 CGL 2019 Tier-II (15/11/2020)
F (a) 300 m (bY’ 298 m
(c) 285 m (d) 289 m




ATHSE): or all govt. exz By ADITYA RANJAN SIR

@ Two trains of equal length crosses each other

oL= (x-g )X& X 60 \-IMPin same direction in 1 min and in opposite
18 direction in 10 sec. Find the speed (in km/hr)

of trains.

U wars i Al Ienmgt Ua & faem H werd g o1
fe o aiv faudta faym o =e@ gU 10 W=wUs W
USH-ZET I UX A &) SH et st ere (T2
o) AT wi

(a) 60, 72
(b) 60, 54
" (c) 54, 48

\(d}éannot be determined




Y
l60tmih 200l
+ :_]Sl - 660
x,n-e/z

Jovt. exz | Y ADITYA RANJAN SIR

24. Two trains having lengths of 230 m and 240 m
are 130 m apart. They start moving towards
each other on parallel tracks, at speeds of 160
km/h and 200 km/h, respectively. In how much
time will the trains cross each other?

230 m 3{1T 240 m #=&E areft &f 24 130 m & g
W ¥ WEra? uefiE Ut wEy: 160 km/h 3R
200 km/h & 9@ ¥ TH-FHAT Hi AT T IH
w81 29 Ush gEt @l e g o Ui &i?

SSC CHSL 08/06/2022 (Shift- 2)

(a) 5 Sec \(M Sec

(c) 8 Sec (d) 7 Sec



comPLETE RNk cour

usom , gpom  300m

l6zumih (ogLmiin
Wy
-l;:_% :&50;2:
g

govt. exz BY ADITYA RANJAN SIR

Two trains whose lengths are 450 metres and
300 metres are moving towards each other at
the speed of 162 km/hr and 108 km/hr
respectively. If distance between trains is 300
metres, then in how much time, these trains
will cross each other?

a1 Tenmiear foehl T Tg 450 W2y a9T 300 Wizl §,

Ush AT @l 3T HAI: 162 fmm/uzr-wﬁwe m“‘%ra

tﬁ%luﬁmmaﬁaﬁgﬁsooﬁa%,?ﬁﬁ
TENTSAT Ush AT ahl fehad AUT § U T &0 7

SSC CGL MAINS (08/08/2022)

\1?, 35 seconds (b) 21 seconds
)

14 seconds (d) 28 seconds



o) 1S AMATH SE11): or all govt. ex: By ADITYA RANJAN SIR

D = 8Xt 26. Two trains are running on parallel tracks in
) o= OB I e e e e
each other in 3 minutes. If the length of one
train is 230 m, then what is the length (in m)
of the other train?
a1 2 Ao USEl Ut Uk & fEum o sheen: 80 famdi /ge
I 90 ferdt/ger =it =l | =e T T A 3 fe o
~,82§;“2'>" Qokmlry, T T @l TN &Il & Afd Teh 27 ol oiang 230 HieX

Jmiy . ®, W I A @ v (Hiew H) v g

\«f 270 (b) 300

(c) 250 (d) 230

2 %= 500-230 =270




MATHS DUEK Dr all g¢ . ¢ » BY ADITYA RANJAN SIR

L=D 59 27. A 640 metre long train travelling at 80 km/h
Sgo36 9 overtook a 540 metre long train travelling at 72

_ M XJB’ 534 w/h in the same direction. How long did it take
;/ the faster train to cross the other train completely?

o
= 8min 54" 80 km/h & WA W T TET 640 WET T YeOWET A

RGN § 72 km/h F @ ¥ @ WIE0 He
o Termet &t U feRam aW wrer arett TenmeEl grl

FEIT TEST &l YA a0E 9 YN & U feRaar aug em?
SSC CHSL 06/06/2022 (Shift 03)

(a) 8 minutes 41 seconds
(b) 9 minutes 09 seconds
(c) 9 minutes 01 seconds

\(g/ 8 minutes 51 seconds



MATHSE1I: or all govt. exz | BYADITYA RANJAN SIR

5 28. Train A running at 81 km/h takes 72 sec to
19 ._._ overtake train B, when both the trains are
(8'-3))‘—'% running in the same direction, but it takes
36 sec to cross each other if the trains are
36= Q460D running in the opposite direction. If the length
(81+y) xS of train B is 600 metres, then find the length

23S of train A. (in metres)

81 km/h & =T | oe4 areil 29 A, 29 B ®

12X (81- ”

12X (81 3)’%~§(X(8H3)x Al e # 72 sec W WWA @E@ wdl §, Wd
‘Baﬁ’ﬁjyﬁj‘q’wﬁwﬁgﬁ%}ﬁﬁmwﬁ

7 10222 g1y 3 faufn feon & 7 4, @ THgE W ow
B -‘-)%:IZB &1 U 36 sec &1 UHT ot & afg 29 B &l wars
i 600 Wiz &, @1 29 A Wi wars #d ®i| (HeT §)

T2 A+60p ) 1080 = x+600 SSC CGL 13/12/2022 (Shift- 03)

33er_%_ (a) 600 \(b)” 480

%1 (c) 590 (d) 900



29. The lengths of two trains are 380 m and 220 m.

_g0= 660 30 The faster of these two trains takes 20 seconds to
(x-Y) overtake the other, when travelling in same
( A-y = 30 'm@ direction. The trains take 12 seconds to cross each
other, when travelling in opposite directions. What

is the speed (in km/h) of the faster train?
%%So a1 241 @ wars 380 Wew 3w 220 Hew §1 ww & favn
C“ﬁ: SOmsﬁ o ATAT HId WHE 39 S 241 § | O Ta | e arell
FA{ 2 W U &I W 20 Wehs ol |HA Al g
. &aeﬂu-'xl faafta faomsit # arn @@ wwa 33 U TW F W
% /%:“'}‘( HH U 12 UHhe T GHT odl g1 dF 29 i A

( ferdt g2 o) =T 272

SSC PHASE IX 2022
(a) 108 (b) 126

\(7)/ 144 (d) 90




o) 1S AMATH SE11): or all govt. ex: By ADITYA RANJAN SIR

RN éﬂ@—b 30. A train x running at 74 km/h crosses another

"‘ d train y running at 52 km/h in th it
gy 3K 2K rain y running at 52 km n the opposite
e direction in 12 seconds. If the length of y is
t=D two-thirds that of x , then what is the length

S of x (in m)? _a

S 12= 8Bk 74 km/h & =Te 9 =4 aret Termet x, fauia
-”/23’(,%, faym ¥ 52 km/h & =T | FA ATell TS y
=) k =gy &l 12 US| U Al 21 Ifg TSt y &l Aarg,

TETTET x i @arg ot ar-fagrg €, af TenmsT x &

. X:Bxgq.; 255 @ s (m ®) Jd HT

(a) 168 (b)” 252
(c) 210 (d) 200



o) 1S AMATH SE11): or all govt. ex: By ADITYA RANJAN SIR

> £ 31. The ratio of lengths of Train A and Train B is
o= B%K 2% 3XThe speed of A is 36 km/h and that of
590X B is 54 km/h. They cross each other
& completely in 10 seconds when travelling in
X=So opposite directions.(In how much time (in
seconds) does Train B cross completely a

1=D tunnel \of length 450 m?
S %Amﬁnﬁmwmzzszmaﬁ
= 'gsg;uso =Tel 36 km/h & 3iT B & wret 54 km/h %1 faodfa
x—% faomati ¥ arm 9 @6d, ¥ 10 ¥ W US FET @
_76&1(0 it @ ® U &t g1 29 B faew wwa o (9T

o) 450 m &l G H YA TE H YT HIA?

ICAR Assistant 29/07 /2022 (Shift- 02)

(a) 60 (b) 45
(91 40 (d) 50



OMF MATHSE)1): or all govt. exz | Y ADITYA RANJAN SIR

32\./“ length of Train A is % of the length of 29 A & @amg, 29 B &l @@ i % %1 A 3T B
Train B. The speeds of A and B are 63 km/h 5 o zour. 63 km/h 3T 45 km/h % faufa

and 45 km/h, respectively. Trains A and B : —_— N . \ g s
take 15 seconds to cross each other s <1 A3R B T# L @l qﬂ

completely when running in opposite % ¥ U &4 ¥ 15 H&g & §9d &l €1 90 km/
directions. How much time (in seconds) will h & =& ¥ =11 T8l 160 m @& arel 29 C, 29

Train C of length 160 m, running at a speed A& U HE Y (FE 2 29 US g fEvm ° wue
% &) foram wwm (A=wE o) @wi?

ICAR Assistant 29/07 /2022 (Shift- 03)

of 90 km/h, take to cross Train A when both
the trains are running in the same direction?

(a) 42 (b) 50
(c) 45 (d) 48



33.

A 8
2+10 o

1 Y
§x4170= (§-29) ex,aé :(5+35)}€xy{

= Qa- 315 = Wy+iyo

5 st

Two trains whose length difference is 170 m,
crosses each other in 16 sec when move in
opposite direction but crosses each other in
36 sec when move in the same direction. Find

the speed of faster train if speed of slower
train is 35 km/hr.

a1 TonTiedl i oangal & 3aT 170 Hiew g1 fauda
faomati W werdt 28 ¥ U A @ 16 ks W 3N
garw faem o wewt g8 36 O T AT 7
afg efidt wfq arelt Yermst & ener 35 fadt/ =27 8

Eo O 1 s e L B | B T e [ e = | A 1
(a) 65 km/hr (b) 70 km/hr
(c) 78 km/hr “(d)” 91 km/hr



By ADITYA RANJAN SIR







30Vt exa | BYADITYA RANJAN SIR

Two trains having same length cross an
electric pole in 27 sec. and 24 sec.
respectively. Then in how much time they will
cross each other if they are moving in opposite
direction.

que @arg @l 9 tennst faselt & Us @ @i
THIT: 27 WHE T 24 s U U HIdl g1 ar T
g W 9 Us gE @ U & gfe F fauda faem
oo & B

(a) 22.6 sec \M25.4 sec
(c) 28.2 sec (d) 30.8 sec



MATHSRE)I):

"t o Qt('(:z
(t,-t,)

= 2¥Xsyq
X

or all g¢ PX3 » BY ADITYA RANJAN SIR

35. Two trains of equal length cross a pole in 5
sec and 7 sec respectively. In what time they
will cross each other going in same direction

a1 WU ST hi oSl Ush @H hi HAY: 5 HhUS
3T 7 VT W YR HTal ¢ 9uE foon # we gu A
Ueh-g8 ol Toha @G | A T2

\_/(ﬂ)/ISS sec (b) 30 sec

(c) 20 sec (d) 32 sec



Jovt. exz | Y ADITYA RANJAN SIR

Two trains of length 160 m and 180 m
respectively cross a pole in 5 sec and 6 sec
respectively. In what time they will cross each
other going in same direction?

2t Yot fomat warg s (e0)weT 380 HWew
¢ forddt @9 &1 Fm9T_S HaHve 3T 6 HaUS H UN
w81 wuE favm ® wed g F um-gE @ feen
q9g H U SHM?

(a) 150 sec (b) 160 sec

\(/c)/170 sec (d) 180 sec



MATHSE1I: or all govt. exz | BYADITYA RANJAN SIR

27 17 37. Two trains cross a man standing on a platform
in 27 sec and 17 sec respectively while in op-
t= -% posite direction crosses each other in 23 sec.

03 = (4 la Find ratio of speed of the trains?
ey ar tenmet foRdt wiewd Ut W U afad whl hET:

27 HehUS 3MT_17 HhUS H UN Hidl & Waleh fauia
3 2 feon & = gU um-gE w23 WU A AW A
D BS=Ys, #1 oIS & ATl @ U Aa iU

5 (a) 2: 1 (b) 1:3

() 3 :5 \(9/3:2

@) 23542352215 411,



or all govt. exz By ADITYA RANJAN SIR

37. Two trains cross a man standing on a platform
in 27 sec and 17 sec respectively while in op-
posite direction crosses each other in 23 sec.
Find ratio of speed of the trains?

ar Yerst fedt wiewd uT @e us sAafad i shE:
27 HHUE 3T 17 HHUE H UN &HIdl & Saleh fauqid
faym o wod BU Us-gWT @ 23 H&US W UW il
€1 TETIET & WITeT Sl 3T UTd ATd it

(a) 2:1 (b) 1:3

3 : S d), 3:2

L'y 2
AR




yovt. exz By ADITYA RANJAN SIR

. Two trains cross a man standing in a platform

in 18 sec and 24 sec. While crosses each other

coming from opposite direction in 20 sec. Find
ratio of speed of the trains.

1 Tenmel Rt WEw U WE U SHfad whl e
18 HRUS 31T 24 HHUS H UR &Hidl & wafeh faudtd
faom ¥ wed TU USH-gET W 20 WHUT H U HIl
£| TETMST & WTA T I ATA iU

(a) 3:2 (b) 4:3

2:1 (d 3:1
N



By ADITYA RANJAN SIR




MATHSEI): pr all g¢ pXd » BY ADITYA RANJAN SIR

b—{ 39. A train crosses two cyclists in same direction
— > in 12 seconds and 15 seconds respectively.

y & Speed of cyclists are 18 km/hr and 21 km/hr
D=(x- '8) 8’92/ = (x-2)XLXZ respectively. Length of train is :

Ux-12= Gx- oc u& tomgl wura favm #, 18 faRdi gEr s 21

fertdt /92T & =T ¥ e arel |1 WIsiehel Aot ahl
THHIT: 12maﬁt1sﬁmﬁwaﬁ?zlm
‘30 (a) 40 m (b) 45 m

“3/ c)/ 50 m (d) SSm



: MATHSE1I: or all govt. exz BY ADITYA RANJAN SIR

D-_—_ (*)(.-}5))( 6 — (X+10)XS 40. A train passes two persons walking with speed
— of 5 m/s and 10 m/s in 6 seconds and 5

seconds respectively. Both persons are walking

@ in opposite direction train. Find the length of
e e— train?

U TeTEr 5 Wi/® ud 10 Wi/H & U § O @
D= 9sx6:180 3t sl F FA: 6 FRVE TF 5 JRVE § X W
At #1 A I =mfw TeE & fauda faow ¥ we
@ &1 TS F AT |drd?
(a) 125 m (b)Y 150 m
(c) 160 m (d) 170 m



4
D= (Do =te- gl

(0OX-30 = lXx-SS

A train passes two persons walking in the same
directions as of train at a speed of 3 km/hr and
S km/hr respectively in 10 seconds and 11
seconds respectively. The speed of the train is
uw termet auE favn o, 3 feddtger w5 et wer
& ATA W Fe arel g1 SAfwhdl sl HAY: 10 Hehs
3T 11 Hehs ¥ UR Tl &1 ToRMST i 1T 8

(a) 28 km/hr (b) 27 km/hr

(ef 25 km/hr (d) 24 km/hr



or all govt. exz BY ADITYA RANJAN SIR

\y/ A train crosses two persons travelling at 4 km/
Hw h and 6 km/h in the same direction in 12sec
and 14 sec, respectively. The speed of the

train is ;
Us 29 39t faym ¥ 4 km/h 31T 6 km/h &I
aGet | IS T8 9 SAfaadl Rt A9 12 sec 3N
14 sec W UIT &Y ATl &1 29 @i AT AT (AT

SSC CPO 11/09/2022 (Shift - 02)

(a) 18 km/h (b) 26 km/h
(c) 20 km/h (d) 24 km/h



By ADITYA RANJAN SIR




MATHSE1I: or all govt. exz | BYADITYA RANJAN SIR

A km|h

D=EX%E u‘g:?. A carriage driving in fog passed a man who was
g walking at the rate of 6km/hr, in the same
200 = (X- 6) XJ%/S( direction. He could see the carriage for 4
3 minutes and if visibilit m, the speed

) 3:=x-6 of the carriage was:
3 &gt ® T areit U rer, wura faym #
6 Tt/ /92T & =T | oo Al Ueh SAfad ahl U

HIAT B A€ M w4 T 9% 3@ WEHhar § 3R
gfg gygar 200 Wt of, a1 ST & AT A
(a) 8.75 km/h
(b) 8.5 km/h
(c) 8 km/h

\(d)9 km/h




Jovt. exz | Y ADITYA RANJAN SIR

A man could see 400 m during fog when he
was moving with 4 Km/hr, he saw a train
coming from behind & disappeared in 3
minute if the length of train is 200 m, find the
speed of the train?

Us = ®Ed & SR 400 WieT 3@ Hehdl § 9d 98
4 fdl /e @ S £ A T dEn R U e
w?m3ﬁwﬁmﬂag‘fwzuﬁm@

i T@E 200 Wi &, O IS Wi o qT i
(a) 20 km/hr \_(b}” 24 km/hr
(c) 30 km/hr (d) 40 km/hr

3Y60
‘M



MATHSE1I: or all govt. exz BY ADITYA RANJAN SIR

D= 6x¢t 4250 A train crosses a man going along the railway
_ i Y 100" track at 6 Km/hr. The man could see the train
C‘2°°+3°°) - (x 6) x]%, 3 upto 2 minute and find the speed of the train
if at the time of disappearance the distance
between train to man was 1200 metre & length

3 US= - 6 of train is 300 metre ?

3 6 ferddt/ =eT &t =ter |9 =1 ® et = & qum=

favnr & & et g2 U IS Un @Al ) |t
et w2 fAe 9% 3@ WeRar 3T TE SHeR!
1200)t @& fawamg It € afa IermEt & s 300
ot 21, A Yo Wi S

(a) 39 km/hr (b) 45 km/hr
\(9/§1 km/hr (d) 57 km/hr

1866 = (X -6) X1¢9-
2




ATHSE]i): or all govt. exa By ADITYA RANJAN SIR

TYPE - 08



46. A train is travelling with a speed of 54 kmph
to reach its destination in 6 hours, but after
reaching 20% of the distance, the engine fails
due to which the train gets delayed by 33

T minutes. By how much percentage does the
S4km|h 6hr= 360min driver needyto increase It,he traing’s speed to
reach the destination on time (correct to two
‘ - decimal places)?
- D =324m A UF 29 6 WE W WUA Taed WA A% Uged & fou
54 faudt wia =2 =t wfa | amm &0 @ &, oifeA
@_ 80y 36 20% T 7 TA & A@E, I fawe & W € fawes
&5 % min 3 HIOT 29 33 foz &t 3 | werd 8 A W ae
= 3}@')(1)( T A Ugod @ o0 gEaT &l 29 @i ia | famad
- S S=3‘2“H(_?~ 89 ufaora @t gfig &0F # EvaEwar & (3 IvmHeE
+ }& Tl Wel)?

" 12 6\3 CRPF HCM 28/02/2023 (Shift - 01)

- /%}60 S ¥ (a) 11.54% (b)12.94%

25 g BQQX X 6 ;( © (c) 10.96% (d) 10.24%

+3§""n 2Sg . IAX8X6
10 S -S89
PR N

!
&
[72)
=
>



&

6x4
S

46.

/~220

A train is travelling with a speed of 54 kmph
to reach its destination in 6 hours, but after
reaching 20% of the distance, the engine fails
due to which the train gets delayed by 33
minutes. By how much percentage does the
driver need to increase the train’s speed to

reach the destination on time (correct to two
decimal places)?

U 29 6 Ue U IUA Tiasd I dF Uwd & folw
54 Tt wfa @2 = wfa ¥ amr &0 @1 8, @AfeA
20% U 99 &IA & e, 399 fawa g1 5 g o
&IOT 29 33 foqe & 2 | ued 81 99a u Tnas
W d% WA & o geeaw & 29 & ia | feRad
ufqora @t gfg &9 &1 AEvasar § (37 ITvmed
T qh TEl )?

CRPF HCM 28/02/2023 (Shift - 01)

(a) 11.54% .
(¢) 10.96% (d) 10.24%

1R, Ay



MATHSE1I: or all govt. exz BY ADITYA RANJAN SIR

47. A train met with an accident 120 km from

|20Lm | johv - ) station A. It completed the remaining journey
X ——" > 5
& ? — at 6 of its previous speed and reached 2 hours

late at station B. Had the accident taken place

I 5hy Shy T
|20¢m l 300Km' I T 300 km further, it would have been only 1
S _— hour late. What is the speed of the train?

) 6 ByF A § 120 Tt 37 s 39 gHeAnRA @ T 3Ed
=300 60Km|k
-3

. o . - T
FuEr fuge nfa & = T 9 AT U O AW 2y
B W 2 W T A UgsM W Fgear 300 fedt am
2iar, a1 98 shad 1 92T a7 Bldl 24 ahi TTid 9T &7
(a) 100 km/h (b) 120 km/h

60 km/h (d) SO km/h



30tm 180N

(3hv

&

5

X

| 36min l [YY min 36
18 km

48. A train meets with an accident after travelling

4
30 kms, after which it moves with s of its

4SminT original speed and arrives at the destination

45 minute late. Had the accident occurred 18
kms farther, it would have reached 9 minute

earlier. Find the distance of the journey and
original speed of the train.

NT o Termet w30 fawendter &t amm &9 & A

gHeARd B Wt &, faue e @w 2ue 9w

% o % W e & o 45 fo ¥ A e w

& T 9 fose uge ugw wwEn arar & gA oA e
@ g AT FTd RIfaAw?
(a) 120 km, 25 km/hr
(b) 125 km, 25 km/hr
(c) 130 km, 30 km/hr
\ (9120 km, 30 km/hr




. 90'0x Yo =

= Yoo

30Vt exa BY ADITYA RANJAN SIR

A train starts from Delhi at 8:00 am. After 6
Hrs. there was a breakdown in the train, due

to which it travels 3 of its normal speed and

hence becomes 40 mins late. If the breakdown
occurred 200 km farther then it would have
reached its destination 30 min late. Find the
distance covered by the train ?

U el faeell ¥ gaw 8:00 &S W WHW @il
£l 6 WE @R, IENMST W U AhSIsA g1 foue a9
mmﬁmw%%ﬁmm%aﬁ?wﬁm
40 fomz &6 @ ugwrdt ¥ afe smssw 200 fwendrey
AT FT EIW TrAT A FE 30 fuAe FH W IuA vaA
e UR Srdll ENmE T 99 i Mg g AT i ?

(a) 2800 km (b) 3600 km
4400 km (d) S200 km



: IMATHSE« 1 or all govt. ex: sy ADITYA RANJAN SIR

6&\? i gomin 49. A train starts from Delhi at 8:00 am. After 6

8—-—-_‘(—?_\7@““ T Hrs. there was a breakdown in the train, due
.00 — 2

5 to which it travels 3 of its normal speed and

g 000y 60M; | hence becomes 40 mins late. If the breakdown

wm? occurred 200 km farther then it would have

reached its destination 30 min late. Find the

3
distance covered by the train ?

@mﬁwﬁﬁ@gsoommmm
m‘ﬂ!o = Wy ytmm mﬁqmmgmﬁm&m

WMWWE — ﬁmwﬁ%mwﬁm
4oquzanﬁw@?ﬁ%nufaamzoofammm
AT FT EIW TrAT A FE 30 fuAe FH W IuA vaA
e g Sdll {ersl g 99 i e g JTd hifan?
(a) 2800 km (b) 3600 km

4400 km (d) 5200 km



S50. A man starts from his home to his office with
a certain speed but after 1 hr., meets with an
accident & resumes his journey after 1 Hr and

60min l |80Min | 1hv/36ahin T becomes 1 hr 36 min late due to reducing his

: ce S
Homu . |hvr wait % speed to —. If the accident had occurred after

: 6
;5: 50 Km then he will be late by 1 Hr 20 min.
Find the distance from home to office?

] F%%m* lOOmiWnT@wﬁﬁ@ﬁﬁaamﬁmﬁmﬁamﬁm

&E & fom ferear 2, @ifeh 1 92 & @9, 30 919 U
S AT Al ¢ AW G AU qAET 1 U & A@E IE
= < ~ i 5 - -
hidl & 3T 3ATAT =Tl <6l g deh ohH hiA oh R0l
W 54 3 1 "¢ 36 oz I | Ugwan €)1 fg e 50 fereidey
— I(MX§ - : . - - o J SN ~ -
BGTM @& ®E "ied gar, a1 98 1 92 20 fu=e I | ug=an

. U7 | FUAT i gIT T Ul ?
- ‘80 (a) 112.5 km (by/ 150 km
Cm
= — (c) 187.5 km ) 225 km




